
OLVER VOTES TO ELIMINATE MARRIAGE TAX PENALTY

  

VOTES AGAINST REPUBLICAN PLAN THAT IGNORES THE FUTURE OF MEDICARE               AND SOCIAL SECURITY

               WASHINGTON– Today, Congressman John Olver voted in favor of               a Democratic plan that would eliminate the marriage tax penalty               that currently exists for two-income households. He voted against               a Republican bill (H.R. 4810) that eventually passed, pointing out               that the Republican plan could jeopardize the future of Medicare               and Social Security.

               "Working families should not be burdened with this tax penalty,"               Olver said.

               "The marriage penalty relief plan I support provides tax relief               for married couples while leaving room to provide a prescription               drug benefit for seniors, strengthen and protect Medicare and Social               Security, and pay down the national debt. Unfortunately, the Republican               plan ignores these concerns and gives tax breaks to couples that               already receive a marriage bonus," Olver added.

               Under the current tax code, 48% of all married couples suffer from               a "marriage penalty," while 41% will incur a "marriage               bonus," with 11% unaffected. Marriage penalties generally fall               on two-earner families, while the beneficiaries of a marriage bonus               are one-earner married couples. The "marriage penalty"               is created in part by the change in standard deduction when two               individuals get married. For example, the standard deduction for               a single taxpayer is currently $4,000. For a married couple, the               standard deduction is $7,350, or less than twice the single's deduction.

               The House Democrats' alternative would have increased the standard               deduction for married couples to twice that of the single rate,               and it would expand the Earned Income Tax Credit (EITC). The total               cost of the Democratic plan is $95 billion over 10 years, as opposed               to the Republicans' $182 billion. The Democratic measure was defeated               by a count of 228 to 198. President Clinton has indicated that he               will veto the Republican bill because of its high cost.

               "The Republican bill is headed for a Presidential veto,"               Olver said. "We need a bipartisan plan to ensure immediate               relief for working couples and to protect and strengthen Medicare               and Social Security. It is sad that the Republican leadership chose               to put partisan election year politics ahead of actually enacting               tax relief for working families."

               The Republican bill passed the House by a final vote of 269 to 159.
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